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Guess Paper 2013
Class – XII
Subject – Mathematics 

SECTION A(Each question carry 4 marks)

1. Show that the functioned defined by 
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 is discontinuous at all integral points. Here 
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 denotes the greatest integer less than or equal to
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2. If 
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3. Determine the value of
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 and 
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so that 
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 is continuous.

4. If 
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, prove that 
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5. If 
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6. The two equal sides of an isosceles triangle with fixed base 
[image: image11.wmf]b

are decreasing at the rate 3 cm per second. How fast is the area decreasing when the two equal sides are equal to the base?

7. A particle moves along the curve 
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 Find the points on the curve at which the y-coordinate is changing 8-times as fast as x-coordinate

8. Discuss the commutativity and associativity of binary operation 
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 defined on Q by the rule. 
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.Find the identity and inverse if any.

9. Let 
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 be a relation in 
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, defined by 
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. Check R for reflexive,symmetric and transitive? Give reasons.
10. Solve :
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11. If 
[image: image20.wmf]11

coscos,

xy

ab

a

--

+=

 prove that 
[image: image21.wmf]22

2

22

2cos

sin

xxyy

abb

a

a

a

-+=

.

12. Find the interval in which the function 
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  is increasing  or decreasing 
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13. 
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SECTION B( EACH QUESTION CARRY 6 MARKS)

14. Solve the following system of equations:
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15.   Let 
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 be defined by
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Show that is a bijection

16. Find the inverse of the matrix by elementary operations 
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17. A tanke with rectangular base and sides, open at the top is to be constructed so that its depth is 2m. and volume is 
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. If building of tank costs Rs. 70 per 
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 for the base and Rs. 45 per 
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 for sides. What is the cost of least expensive tank?

18. A point on the hypotenuse of a triangle is at distance 
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 and 
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 from the sides of the triangle. Show that minimum length of the hypotenuse is 
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